Body Sextupole vs. Chromaticity Sextupole 
Joe DiMarco’s stretched wire field measurement resolution:

10 units @ 2”  →  norm6p coef B”/B = 0.4 m-2  →  k2 = B”/Bρ = 0.009 m-3  

(ρ = 44.15 m)

Bob Peters’ body sextupole measurement fitting:

k2 (F) = 0.026 m-3

Total length of F = 2.889612 m x 48 = 138.7 m

k2 (D) = -0.021 m-3 

Total length of D = 2.889612 m x 48 = 138.7 m
(Note: These don’t include the end pack field, which is yet to be measured.)

Jim Lackey’s chromaticity sextupole setting at 20 A:

k2 (HS) = 0.311 m-3

Total length of HS = 0.3 m x 12 = 3.6 m

k2 (VS) = -0.561 m-3

Total length of VS = 0.42m x 9 = 3.78 m
Integrated sextupole strength B”L/Bρ:

Body sextupole: 

F = 3.61 m-2

D = -2.91 
m-2

Chromaticity sextupole:
HS = 1.12 m-2
VS = -2.12 m-2
